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One who leaves because of a bad name is subject to stoning

Overview

The &n*12 taught previously' that a woman who was ¥1 0w 0Wwn NXEY has no o1p
and no "nd. The X3 assumed that we are discussing the classical case of a nXxY
y1 ow own.? The 813 asked, the Xn*>2 cannot be discussing this woman, for nNXX1’7
X7 120 N2 ¥ aw own! Our Mv0IN explains what exactly is the s'R7%) question.
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And it is obvious that she does not receive 21p, for she is certainly a 791w2; the
payment of 01p is only to a 12103, so there is no need for the Xn>12 to teach this ruling —

mooIN rejects an alternate explanation:*
- Sy NaY NP 2N YN DN YYD PN JAN

However, one is not to explain that since there is a 7o punishment to the one

who comes upon her, so -
- 1195 NA91a 7Y BPT VP 1Y PRT NVIVS

So, it is obvious that she receives no 91 from him, for %''a%p and there is no need to
teach us this ruling; this is an incorrect explanation -

:N$922 19Y 530D 93 795991 10 Yy NaN (paanna 2anp xAT
For the mw» taught, ‘one who came upon his daughter’, and previously in the
Rnvo12 it also taught that there is no 03p for one who is NWIYR Y X2, since it is a case
of n"a%p.

Lo,

* This refers to a woman who was found to have been 73m while she was an 7018, She must leave her husband and
her punishment is 772°p0.

? The reason she is NX¥Y is because there are o7y that she was mima. If the 0>7v are believed to the extent that she
receives 17°p0 they are certainly believed that she is a 771w2.

* The advantage of the following explanation (that Moo needs to negate it) is because the Xn3 asks, X1 72°P0 N2
according to the previous explanation the X3 should have said, &7 72192 87; however, according to the following
explanation, the question X1 72°p0 N2 is more readily understood.

> This woman who is 79°p0 271 is still a married woman, and any man who lives with her is in" 2. The meaning
of 719°po na will need to be reinterpreted to mean that she is causing him to be 70 2™wn.

% Shortly on this Ty,

7.

8 We see that that both the mawn and the Xn»92 do teach us the MW of 01p on account of »n"2%p. Therefore, there
would (seemingly) nothing be wrong if the 8012 would also teach us that 01p 7% PR Y1 0w D1W» NRYPMT is on account
of n"2%p. See ‘Thinking it over’.
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Summary
Y7 oW 0wn NRX certainly does not receive 01p for she is a 71712,

Thinking it over
Why cannot we say that the question of X°77 7%°P0 na means (like the w5% PR wants

to explain it) that it is a case of »"2%p, and since we already know the exemption of
n"2%p from the X of the Xxn»13,” which mentions Ny, so why repeat it again?'”

% See footnote # 8.
10°See ooaw moon.
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